r which it is possible to construct a triangle.

 with angle measures 75°, 90°, and 32’ gr (7, {er +h on '?O
gle with side lengths 2.5 cm, 11.2 cm, and 71.6cmy | Qv ges l‘ S\ de id
angle with side lengths 5 cm, 5 cm, and 13cm ——% O qu Wer

D) angle with angle measures 20°, 100° and 60°
ﬁ A triangle with side lengths 7 cm, 14cm and 7 cm / th an : 3 " &
sum of

ne otl

2. Find thevalues of xand y? ' 2

63 = y+13 (vertical)
3

Sav & ~1 3
0=y
‘x= 6?’ i B 4 i
@)», 2x[- 17] = 130 (suppleme
tary
4 46+ 7% =1%0
- b ., Y
1 % - 1%4
5 0

=01



‘aren of base A
(46 )%2= 12
W

4 cm

1. What is the volume of the prism, in cubic centimeters? :

area of base ¥ height = volume
12 x 19 {144 c¢m'?

2. What is the surface area of the prism, in square centimeters?

12x3 = 34
2] 12%4 ¢ 12 ?4 +34+48+|’1+|
42 ‘
2 123 284 -




s o

¥

a. What is the volume of the figure?

ave o dk bose X I -=Srelame 43 +16 =

d /ST age oo /\ 0
b. What is the surface area of the figure? 16 ]
16+A4g + 40 + 48 +1b + \ Py

What are the v

30 +30 4126 +28§ PR
-m 25 30\. 40 30 1’5‘

130°

49

16
130 + % 2180 supp leme ntary
-13 -130

e

[« = 50)

go (compiementary

a0
-50

x+Y

'
&>
4
«<




Y a0 )

~ [.B. Adjacent angles can be supplementary.

\_—_‘ > adjocent ond

Cforn 0 stronig g

Nt I a‘ng‘ I (Codds vp to

° C. A straight'angle can be complementary.

- Stroigny angle

Comp leme N+ ary =

& - 190)

g0
" more +hon 4

glagihieihs.
- -
angle oadding
vp o q0.

(180 is +00
laroye ).




